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systems in humans?
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a)_Spinal cord/f%as
b) Kidney / 95
c) Heart / g
d) Lungs/®®eT
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L).2 Which ot the Ttollowing IS not conneclive lissue*
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(a) Bone / 3tfe
(b) Cartilage/SqTi®
(c) Blood / T<p

(d)_Skeleta
muscle/FETeT g9
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(a)Clavicle/
FAd [
(b)llium/zefre

(c)
sternum/&=aH




photosynthesis?
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a) Root hair
b) Stomata
c) Leaf Veins
d) Petals




Q.5 Which of the following is not present in chlorophyll?
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a) Magnesium
b) Nitrogen
c) Potassium
d) Carbon




Q.6 The optimum temperature for photosynthesis is
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a) 25-35°C
b) 10-15°C
c) 35-40°C
d) 20-25°C




Q.7 Pick the correct statement :
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(a) legumes do not fix nitrogen

(b) legumes fix nitrogen independent of
bacteria

(c) legumes fix nitrogen through
bacteria in their roots

(d) legumes fix nitrogen through
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through the usage of
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(a) resistant
varieties

(b) manures

(c) biofertilizers
(d) all of the above




Q.9 Which of the following is a pair of bio-fertilizers?
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(a) Salmonella and E.coli
(b) Rhizobium and grasses
(c) Nostoc and legume

(d) Azolla and Blue-green
algae (BGA)




Q.10 Which of the following is incorrectly matched?
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(a) Alnus — Frankia

(b) Alfalfa — Rhizobium
(c) Nitrogen fixer —
Anabaena

(d) Mycorrhiza —
Rhodospirrilum



Q. 11 Centriole takes part in the formation of ?
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(a)Nucleus
(b)Spindle
(c
(

) Cell plate
d) To start cell division



area for molecules that are

distributed across the cell and are called ?
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(a)Golg
apparatus/iTiesi i Td
(b)Mitochondria/qTzaret
fega

(c) Plastids/cATi®as




Q. 13 In the below-given list, which one includes the

blood tissu
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(a)Muscle tissue/TTauT=T &7
SGED
(b)Connective tissue/TaTsit
hdh

(c) Epithelial tissue/3THheT 3dh
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nervous system?
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(a) Cerebrum /
SECE:

(b) Nephron /
:_: \J

(c)
Cerebellum/aTdet




Q.15 Which of the following is NOT a part of the brain?
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(a)Pons / 91~

(b) Thalamus /
TATHT

(c)Pinna / fa=T
(d)Medulla / A
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maintains the body
temperature?
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(a)Hypothalamus/gTzarae
HY

(b)Adrenal/ T
(c) Thyroid/ama<izs
(d)Pituitary/fa=1e<]




Q.17 Which of the following is NOT correct for cerebellum?
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a) It lies in the posterior region of the brain/ag
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b) It controls movements, speech, sight, smell,

taste, hearing, intelligence etc. /zl‘a’ﬂﬁ aTUﬁ
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c) Itis a part of hind brain/Ig T4 HEdh &
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U

d) T2 0T T A9 9977 T&4qrT /It maintains



Q.18 Curdling of milk in the stomach is due to the action of
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Myosin/aTaas

(b) Rennin / <=
(c) HCL /
U410,
(d) Pepsin / 9fcas
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which of the following :
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S (a)Kidneys/iT

(b)Pancreas /
S LR IR

(c)Large Intestine /
Tet 3

(d)Liver / ™RTT




Q.20 Which of the following is the largest gland in human

body?
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a) Thyroid/JTs=s

b) Kidney/fTaT
c) Liver/@=d
d) Pancreas/3 i =q12M¥




Q.21 The main proteln found |n m|Ik S
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(" "{} > (a)Albumin/ l\vgl HA
(b)Globulin / s oM
(c) Globin/AATTa

(d)_Casein / FHT




following?
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Tubercu

a)Jaundice / diterdT

Anaemia / Thieddl

0SiS/&TT T

d) Polio / 9ot
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human body?
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(a)Kidneys/i[<
(b)Lungs/®wFs
(c) Throat / IT=tT
(d) Liver/@sa




Q.24 Which of the following diseases is caused by

protozoa”
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(a)®T2A AT ffilariasis
(b)ITA-TTE / TAHAT /mumps

(c) I aT=er/amoebic
dysentery

(d) fi=rdt TT/Gout disease




Q.25 Kala-azar disease is caused by

FTAT-3TSTL T o HTLT gIaT gl

(a) Protozoa /Jrarstrsm
(b) Viruses/aTa<® (faHT0)

(c) Bacteria / StaTo[
CECAUESL)
(d) Fungi/®ea (%)




